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A pen and a pencil cost €5.10. 
The pen costs €5 more than the pencil.
How much does each cost?

Q

Trial and Improvement
Trial 1:	 €5.00 + €0.10 = €5.10 but €5.00 - €0.10 = €4.90

Trial 2:	 €4.95 + €0.15 = €5.10 but €4.95 - €0.15 = €4.80

Trial 3:	 €5.05 + €0.05 = €5.10 and €5.05 - €0.05 = €5.00

The pen costs €5.05 and the pencil costs €0.05

x+(5+x) = €5.10
x+x+5 = €5.10

2x+5 = €5.10
2x = €0.10
x = €0.05

Use an Equation

The pencil costs €0.05 and the pen costs €5.05

act it out draw a table

eliminate possibilitieswork backwards

simplify the problem use an equation

draw a diagram

look for a pattern

trial and error



Eddie invested a certain amount of money 
in the bank and the money earned 4% 
interest in the first year. He added €1,000 
to the investment at the end of the first 
year and the whole investment earned 3% 
interest in the second year. This amounted 
to €6,171.76 at the end of the second year. 
Work out how much money Eddie invested 
at the start of the first year.

Q

Reversing the increase of 3%:   (2nd year)
€6,171.76÷1.03% = €5,992

Reversing the addition of €1,000:
€5,992 – €1,000 = €4,992

Reversing the increase of 4%:   (1st year)
€4,992÷1.04% = €4,800

Work Backwards

Use an Equation
	(x × 1.04+€1000) × 1.03 = €6171.76
	     (1.04x+€1000) × 1.03 = €6171.76
	                1.0712x +1030 = €6171.76
                            1.0712x = €6171.76 – €1030
	                           1.0712x = €5141.76

                                   x =

	                                   x = €4800

€5141.76
1.0712



If you toss a coin three times, how 
many outcomes are there with two 
heads and one tail?

Q

Draw a Diagram

HHH, HHT, HTH, HTT, THH, THT, TTH, TTT are the outcomes. 

There are three outcomes with 2 heads and 1 tail.
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Tony is younger than 60 years of age. 
When you add the digits of his age the 
sum is 9. His age lies between two prime 
numbers. If his age is a multiple of 6, 
how old is he?

Q

Eliminate Possibilities

His age is divisible by 6 and less than 60.
Only 6, 12, 18, 24, 30, 36, 42, 48, 54 are possible ages.

The sum of the digits is 9, so only 18, 36, and 54 are possible ages.
6, 12, 18, 24, 30, 36, 42, 48, 54.

His age lies between two prime numbers, 
so we can eliminate 36 and 54.

Only 18 is possible.

Tony is 18 years of age.



Find the sum of the all the whole 
numbers between 1 and 200 inclusive.Q

Look for a Pattern
There’s a repetitive pattern if we add the 1st number to the last 
number and add the 2nd number to the 2nd last number etc. 

1+200 = 201
2+199 = 201
3+198 = 201

etc.

We have 200 numbers.
If we pair up the numbers
we get 100 pairs.

Since each pair adds to 201 the total is 201×100 = 20,100

1+2+3+. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .+198+199+200

 .     .          .
 .     .          .



There will be 7 players playing in a 
tournament. Each player must play every 
other player once. How many games will 
take place in the tournament?

Q

Simplify the
Problem
Case 1:	 The 2nd person plays the 1st i.e. 1 game
Case 2:	 The 3rd person plays the 1st and 2nd i.e. 2 games
Case 3:	 The 4th person plays the 1st, 2nd and 3rd i.e. 3 games
Case 4:	 The 5th person plays the 1st, 2nd, 3rd and 4th i.e. 4 games

The total number of games for 5 people = 1+2+3+4 = 10 games
Therefore, for 6 people, it would be 10+5 = 15 games
and for 7 people, it would be 15+6 = 21 games

Draw a Table

1+2+3+4+5+6=21 games

1 game

2 games

3 games

4 games

5 games

6 games

✖ ✖ ✖ ✖ ✖ ✖

✖ ✖ ✖ ✖ ✖

✖ ✖ ✖ ✖

✖ ✖ ✖

✖ ✖

✖

1st
person

2nd
person

3rd
person

4th
person

5th
person

6th
person

7th
person

1st
person

2nd
person

3rd
person

4th
person

5th
person

6th
person

7th
person

Can you think of another way to solve this problem?



In how many ways can pictures 
of Angela, Barbara and Colin be 
hung on a wall?

Q

Act it out
Angela Barbara Colin

Angela Colin Barbara

Barbara Angela Colin

Barbara Colin Angela

Colin Angela Barbara

Colin Barbara Angela

There are three possible 
ways to hang the first picture, 
two possible ways to hang 
the second picture and one 
possible way to hang the third 
picture.

3 x 2 x 1 = 6 ways 6 ways

1st
way

2nd
way

3rd
way

4th
way

5th
way

6th
way
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